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CHEMISTRY

BOOKS - BEYOND PUBLICATION

STRUCTURE OF ATOM

1. What information does the electronic configuration of an atom

provide ?

o Watch Video Solution

2. What is electronic configuration?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yXVjPyKgTyA1
https://dl.doubtnut.com/l/_yf6Ln0LS4eio

3. Rainbow is an example for continuous spectrum - Explain

o Watch Video Solution

4. How rainbow is a continuous spectrum ?

o Watch Video Solution

5. Which is naturally occurring continuous spectrum ?Explain.

° Watch Video Solution

6. What is absorption spectrum?

o Watch Video Solution



https://dl.doubtnut.com/l/_JmYRMowDkLUw
https://dl.doubtnut.com/l/_suFFUjjtrXf8
https://dl.doubtnut.com/l/_mQM1eMOuZLKU
https://dl.doubtnut.com/l/_kPaEV2Hzbzd4

7.What is absorption spectrum?

o Watch Video Solution

8. What is spectrum? How many types of spectrum are there?

o Watch Video Solution

9. What is an orbital? How is it different from Bohr's orbit ?

o Watch Video Solution

10. What is the difference between an orbit and orbital ?

o Watch Video Solution



https://dl.doubtnut.com/l/_21NyJLq5ozYU
https://dl.doubtnut.com/l/_F8F4mefUayio
https://dl.doubtnut.com/l/_pSzz4oU7Z3Tr
https://dl.doubtnut.com/l/_TdKL5L8zvWka

11. Explain the significance of three quantum numbers in predicting

the positions of an electron in an orbit .

° Watch Video Solution

12. How do you appreciate Niels Bohr for his contributions to under

standing atomic structure?

o Watch Video Solution

13. What is nl* method ? How is it useful ?

o Watch Video Solution

14. What is emission spectrum?

o Watch Video Solution



https://dl.doubtnut.com/l/_K58Xu3zme5wz
https://dl.doubtnut.com/l/_ptpPZ2jPZ02P
https://dl.doubtnut.com/l/_QCehmLzIWRxw
https://dl.doubtnut.com/l/_wv5VdvMfHvSz

15. What is emission spectrum?

o Watch Video Solution

16. When radiation is emitted then what is the name given to such

spectrum. Explain such spectrum ?

o Watch Video Solution

17. Which electron shell is at a higher energy level Kor L ?

° Watch Video Solution

18. Explain the reason for K-shell has lower energy than the L - shell.

o Watch Video Solution



https://dl.doubtnut.com/l/_wv5VdvMfHvSz
https://dl.doubtnut.com/l/_wqc30F39EE8Y
https://dl.doubtnut.com/l/_BsfViFCEx3Lg
https://dl.doubtnut.com/l/_ck5XK4wKA55s
https://dl.doubtnut.com/l/_r6j7YYXOPC2z

19. How many maximum number pf electrons can be accommodated in

a principal energy shell?

o Watch Video Solution

20. How many maximum number of electrons that can be

accommodated in a 'p' sub shell ?

o Watch Video Solution

21. How many maximum number of electrons can be accommodated in

an orbitals ?

o Watch Video Solution

22.How many sub-shells are present in a principal energy shell ?

e ]


https://dl.doubtnut.com/l/_5eqfyfEKwNZQ
https://dl.doubtnut.com/l/_XJlGuKyfBwPC
https://dl.doubtnut.com/l/_iwwCeILd0ody
https://dl.doubtnut.com/l/_ggkRtK6UxgX3
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23. How many spin orientation are possible for an electron in an

orbital ?

o Watch Video Solution

24.1n an atom the number electrons in M-shell is equal to the number
of electrons in the K and L shell. Answer the following questions. (AS1)

Which is the outer most shell?

o Watch Video Solution

25.1n an atom the number electrons in M-shell is equal to the number
of electrons in the K and L Shell. Answer the following questions.

How many electrons are there in its outermost shell?

o Watch Video Solution



https://dl.doubtnut.com/l/_ggkRtK6UxgX3
https://dl.doubtnut.com/l/_Y2CVATP1X31R
https://dl.doubtnut.com/l/_jtqe54x04UfV
https://dl.doubtnut.com/l/_YYZR0y1SKvAd

26.1n an atom the number electrons in M-shell is equal to the number
of electrons in the K and L Shell. Answer the following questions.

What is the atomic number of element?

o Watch Video Solution

27.In an atom the number electrons in M-shell is equal to the number
of electrons in the K and L Shell. Answer the following questions.

Write the electronic configuration of the element.

o Watch Video Solution

28. How many elliptical orbits are added by Sommerfeld in third Bohr's

orbit? What was the purpose of adding these elliptical orbits ?

o Watch Video Solution



https://dl.doubtnut.com/l/_YYZR0y1SKvAd
https://dl.doubtnut.com/l/_SK1ukZtBnKSQ
https://dl.doubtnut.com/l/_KwPKJRLRZH0M
https://dl.doubtnut.com/l/_1ycc4AMT2BEV

29. Following orbital diagram shows the electronic configuration of

nitrogen atom. Which rule does not support this ?

° Watch Video Solution

30. Which rule is violated in the electronic configuration 15°2s%2p? ?

° Watch Video Solution

31. Write the correct electronic configuration of the given nitrogen

atom with the help of Hund's rule.

o Watch Video Solution



https://dl.doubtnut.com/l/_0sQOQ4yQeNWg
https://dl.doubtnut.com/l/_ArCRu41OGPkQ
https://dl.doubtnut.com/l/_bOo9kkjZgXbU

32. Which rule is violated in the electronic configuration 15°2s?2p? ?

o Watch Video Solution

33. Write the corect electronic configuration of the given 1s°2s%2p*

according to Aufbau principal.

o Watch Video Solution

34. Write the four quantum numbers for the differentiating electron

of sodium (Na) atom.

o Watch Video Solution

35. An electron in an atom has the following set of four quantum

numbers to which orbital it belong to :


https://dl.doubtnut.com/l/_dlk1sgJ8acyg
https://dl.doubtnut.com/l/_EH3oRQ5QpjoE
https://dl.doubtnut.com/l/_PpvWIxLKFOKf
https://dl.doubtnut.com/l/_RYkDBulihyJP
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o Watch Video Solution

36. Write four quantum numbers for 1s' electron.

o Watch Video Solution

37. Collect the information regarding wavelengths and corresponding

frequencies of three primary colours red, blue and green.

o Watch Video Solution

38. Collect the information regarding wavelengths and corresponding

frequencies of three primary colours red, blue and green.


https://dl.doubtnut.com/l/_RYkDBulihyJP
https://dl.doubtnut.com/l/_2UMLxi3zB947
https://dl.doubtnut.com/l/_6hwz4zgceWsV
https://dl.doubtnut.com/l/_A2z74aq2Gzbw

o Watch Video Solution

39. The wave length of a radio wave is 1.0m. Find its frequency.

o Watch Video Solution

40. Collect the information of historical development of the atomic

theory.

o Watch Video Solution

41. Collect the information about the scientists who developed the

atomic theories.

o Watch Video Solution



https://dl.doubtnut.com/l/_A2z74aq2Gzbw
https://dl.doubtnut.com/l/_j0SCTJktkwMU
https://dl.doubtnut.com/l/_5WoFRuMhAxHH
https://dl.doubtnut.com/l/_VEVYL38sf97Q

42.Draw the shapes of s, p and d orbitals.

o Watch Video Solution

43. How do the sub-atomic particles coexist in an electrically neutral

atom?

o Watch Video Solution

44. Do all atoms have the same sub-atomic particles?

o Watch Video Solution

45. Why is an atom of one element different from the atoms of other

elements?

o Watch Video Solution



https://dl.doubtnut.com/l/_wMhTPHZW9jNg
https://dl.doubtnut.com/l/_A7M1uqzFfPLw
https://dl.doubtnut.com/l/_P1UQJYt2pvgc
https://dl.doubtnut.com/l/_xxHuuQ3sb96x

46.How are electrons distributed in the space of an atom?

o Watch Video Solution

47.How many colours are there in a rainbow ? What are they ?

o Watch Video Solution

48. How do the vibrating electric and magnetic fields around the

charge become a wave that travels through space?

° Watch Video Solution

49. What are the characteristics of electromagnetic waves '?

o Watch Video Solution



https://dl.doubtnut.com/l/_xxHuuQ3sb96x
https://dl.doubtnut.com/l/_fca8pkn9BiJc
https://dl.doubtnut.com/l/_Eudp51Yi31Ue
https://dl.doubtnut.com/l/_7aowNcMjwhQ1
https://dl.doubtnut.com/l/_yO4bd2TtnLdV

50. Can we apply this equation ¢ = v\, to a sound wave '?

o Watch Video Solution

51. Are there any other wavelengths of light other than visible

spectrum?

o Watch Video Solution

52. What happens when you heat an iron rod on a flame? Do you find

any change in colour on heating an iron rod?

o Watch Video Solution

53. Do you observe any other colour at the same time when one colour

Is emitted ?

e ]


https://dl.doubtnut.com/l/_vJKp5EfjQsS2
https://dl.doubtnut.com/l/_UQHjt7V3PaMz
https://dl.doubtnut.com/l/_Upy2Ej4mA3vu
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54. Do you enjoy Deepavali fire works ? Variety of colours is seen from

fire works. How do these colours come from fire works ?

o Watch Video Solution

55. Do you observe yellow light in street lamps? Which will produce

yellow light?

o Watch Video Solution

56. Why do different elements emit different flame colours when

heated by the same non - luminous flame ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cFfUWVURGhfJ
https://dl.doubtnut.com/l/_vckUT59m2W5o
https://dl.doubtnut.com/l/_sTX8WuEHog2p
https://dl.doubtnut.com/l/_uiThUPwgjBkb

57.What does a line spectrum tell us about the structure of an atom?

o Watch Video Solution

58. What happens when an electron gains energy ?

o Watch Video Solution

59. Does the electron retain the energy forever ?

o Watch Video Solution

60. Did Bohr's model account for the splitting of line spectra of a

hydrogen atom into finer lines ?

o Watch Video Solution



https://dl.doubtnut.com/l/_SqQ9M9TEmsp1
https://dl.doubtnut.com/l/_2QnWGwn4YHQS
https://dl.doubtnut.com/l/_9hpHAkZlsghE
https://dl.doubtnut.com/l/_BCJI2nVbO7LJ
https://dl.doubtnut.com/l/_bpz7ahMHdqj8

61. Why is the electron in an atom restricted to revolve around the

nucleus at certain fixed distances ?

o Watch Video Solution

62. Do the electrons follow defined paths around the nucleus

o Watch Video Solution

63. What is the velocity of the electron ?

° Watch Video Solution

64. Is it possible to find exact position of electron ? How do you find

the position and velocity of an electron ?

o Watch Video Solution



https://dl.doubtnut.com/l/_bpz7ahMHdqj8
https://dl.doubtnut.com/l/_goPIfDlDiMdp
https://dl.doubtnut.com/l/_EAR3d6I8xHAn
https://dl.doubtnut.com/l/_V4KXdW40C33I

65. Do atoms have a definite boundary, as suggested by Bohr's model'?

o Watch Video Solution

66. What do we call the region of space where the electron might be,

at a given time ?

o Watch Video Solution

67. What information do the quantum numbers provide ?

o Watch Video Solution

68. What does each quantum number signify ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QUwGXVp14QQ2
https://dl.doubtnut.com/l/_1OyToC7F5kff
https://dl.doubtnut.com/l/_I5TJbRtWX5RM
https://dl.doubtnut.com/l/_YHoJRmS6ISRz
https://dl.doubtnut.com/l/_fN8fPbiiwVDP

69. What is the maximum value of | forn=4?

o Watch Video Solution

70. How many values can | have forn=4?

o Watch Video Solution

71. Do all the p-orbitals have the same energy ?

o Watch Video Solution

72.How do electrons in an atom occupy shells, sub-shells and orbitals?

° Watch Video Solution



https://dl.doubtnut.com/l/_fN8fPbiiwVDP
https://dl.doubtnut.com/l/_BAPBN0XCjhHc
https://dl.doubtnut.com/l/_W2lWaR8GQ1IL
https://dl.doubtnut.com/l/_fIUC66kSw5ZP

73. How are two electrons in the Helium atom arranged ?

o Watch Video Solution

74.What are the spins of two electrons in an orbital ?

o Watch Video Solution

75. How many electrons are occupied by an orbital ?

o Watch Video Solution

76. For carbon (C) atom (Z=6), where does the 6th electron go?

o Watch Video Solution



https://dl.doubtnut.com/l/_jMlsg8s65fAq
https://dl.doubtnut.com/l/_OndBL3p9Z8CY
https://dl.doubtnut.com/l/_bFh6kvdDdvUC
https://dl.doubtnut.com/l/_LnY7zOqBv5OF

77. For carbon (C) atom (Z=6), where does the 6th electron go?
Whether the electron pairs up in the same p-orbital or will it go to the

next p-orbital?

° Watch Video Solution

78. Explain the wave nature of light.

o Watch Video Solution

79. Write an activity which shows metal produces colour in flame.

o Watch Video Solution



https://dl.doubtnut.com/l/_uHLMUxCQf6PT
https://dl.doubtnut.com/l/_vnhBIasfTQR7
https://dl.doubtnut.com/l/_oLg0ezz1vmqy

80. Complete the electronic configuration of the following elements.
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o Watch Video Solution

81. What is dispersion ?

o Watch Video Solution

82. What is electromagnetic specturm ?

o Watch Video Solution



https://dl.doubtnut.com/l/_k8iZRB47IQVi
https://dl.doubtnut.com/l/_Yhqu8BkAI8VS
https://dl.doubtnut.com/l/_6Yh2n1n4bxtZ

83. What is Zeeman effect ?

o Watch Video Solution

84.What is spectrum? How many types of spectrum are there?

o Watch Video Solution

85. What is speed of electromagnetic wave ?

o Watch Video Solution

86. Which colour of light has longest wavelength ?

o Watch Video Solution



https://dl.doubtnut.com/l/_axacYmDMmEJ2
https://dl.doubtnut.com/l/_cDL6f7ZGOj8v
https://dl.doubtnut.com/l/_QUahyNZtYime
https://dl.doubtnut.com/l/_ddFzqAky0kCQ

87. The electrons belong to which orbit neither loses nor gains energy

?

° Watch Video Solution

88.If n =5, then what is the maximum value for 'l'?

o Watch Video Solution

89. What is the probability of finding electron is called ?

o Watch Video Solution

90. If I=4, what are the number of values for m; ?

o Watch Video Solution



https://dl.doubtnut.com/l/_EFfCuM426Xp1
https://dl.doubtnut.com/l/_0RB7wBRqJQTr
https://dl.doubtnut.com/l/_wZa3HN31kv4O
https://dl.doubtnut.com/l/_2zLbC66iKEdN
https://dl.doubtnut.com/l/_X8FrLGfHgTFn

91. What are values of m ?

o Watch Video Solution

92. What is an electronic configuration ?

o Watch Video Solution

93. Explain Pauli's Exclusion principle with an example.

o Watch Video Solution

94. What is Aufbau principle ?

° Watch Video Solution



https://dl.doubtnut.com/l/_X8FrLGfHgTFn
https://dl.doubtnut.com/l/_uj9XAeX3A8jf
https://dl.doubtnut.com/l/_6VCHXg8hyY5S
https://dl.doubtnut.com/l/_9RJ976EPBEr3

95. What is Hund's rule ?

o Watch Video Solution

96. Write Planck's equation .

o Watch Video Solution

97. What is electromagnetic specturm ?

o Watch Video Solution

98. What is wavelength ?

o Watch Video Solution



https://dl.doubtnut.com/l/_e939QqSsKcqs
https://dl.doubtnut.com/l/_LE3YeM2g7PW3
https://dl.doubtnut.com/l/_BbagLL6ch83D
https://dl.doubtnut.com/l/_WZssrBNvhiKk

99. What is frequency ?

o Watch Video Solution

100. Explain the formation of a rainbow.

o Watch Video Solution

101. Which model explain fine spectrum of atom ?

° Watch Video Solution

102. (A) Group 18 elements are called noble gases

(R) group 18 elements form only very few compounds

o Watch Video Solution



https://dl.doubtnut.com/l/_TV0UuaF8ZdIz
https://dl.doubtnut.com/l/_dz8CIkimPBwz
https://dl.doubtnut.com/l/_46k2MLJey7Gy
https://dl.doubtnut.com/l/_TKqfEeLkUgYl
https://dl.doubtnut.com/l/_NJbgEPR6QmW5

103. Which elements are highly stable?

o Watch Video Solution

104. What is the general electronic configuration of Noble gases?

o Watch Video Solution

105. What is visible spectrum ? What is its wavelength range ?

o Watch Video Solution

106. What is the significance of Planck's proposal ?

o Watch Video Solution



https://dl.doubtnut.com/l/_NJbgEPR6QmW5
https://dl.doubtnut.com/l/_chbOkSEul0A1
https://dl.doubtnut.com/l/_jY1eB1vk9iWA
https://dl.doubtnut.com/l/_5Btwui2L2pmv

107. What is the use of a line spectra?

o Watch Video Solution

108. What do you mean by ground state ?

o Watch Video Solution

109. What happens when an electron gains energy ?

o Watch Video Solution

110. What are the failures of Bohr's model of atom ?

o Watch Video Solution



https://dl.doubtnut.com/l/_xW5o8MJxvo3r
https://dl.doubtnut.com/l/_v1OhRBilMPiU
https://dl.doubtnut.com/l/_IF9GfetzBnbW
https://dl.doubtnut.com/l/_AcpjIcnhDKp3

111. What is Sommerfeld's contribution for the structure of atom ?

o Watch Video Solution

112. What is an orbital ?

o Watch Video Solution

113. What are quantum numbers ?

° Watch Video Solution

114. What information do the quantum numbers provide ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VLgcCjHNKU9f
https://dl.doubtnut.com/l/_sfOm7tTH8iaX
https://dl.doubtnut.com/l/_bE7js51JUPKq
https://dl.doubtnut.com/l/_yqa3GjhBQjNn

115. How many electrons are occupied by an orbital ?

o Watch Video Solution

116. When does electromagnetic waves produce ?

o Watch Video Solution

117. What happens when an object is suitably excited by heating ?

o Watch Video Solution

118. Give an example for continuous spectrum.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZblpOKeMe05m
https://dl.doubtnut.com/l/_bxUrssHXQh5d
https://dl.doubtnut.com/l/_CDvofsq9Idnm
https://dl.doubtnut.com/l/_Vvvh4o5FDiur

119. Which is example for line spectrum ?

o Watch Video Solution

120. How wavelength and velocity of light related?

o Watch Video Solution

121. What is meant by Aufbau ?

o Watch Video Solution

122. Which elements are examples of Noble gases?

o Watch Video Solution



https://dl.doubtnut.com/l/_1n6AKuF6DieK
https://dl.doubtnut.com/l/_vqyZqaUjDZVi
https://dl.doubtnut.com/l/_bJFbM5VwKeAi
https://dl.doubtnut.com/l/_1F9squQ3MsEr

123. Which element has duplet configuration?

o Watch Video Solution

124. Why does spin quantum number introduced ?

o Watch Video Solution

125. Why does spin quantum number introduced ?

° Watch Video Solution

126. Write the set of quantum numbers for the electrons in a 3p,

orbital.

o Watch Video Solution



https://dl.doubtnut.com/l/_DtuwLDFol5PF
https://dl.doubtnut.com/l/_r2wrNG1iSyAC
https://dl.doubtnut.com/l/_hwT71z1PRnQD
https://dl.doubtnut.com/l/_ZL6TT7Ysa3AJ
https://dl.doubtnut.com/l/_to4WckBklrJ5

127. What is the difference between an orbit and orbital ?

o Watch Video Solution

128. Write the set of quantum numbers for all electrons of oxygen

atom.

o Watch Video Solution

129. What are the factors which influence electromagnetic energy '?

o Watch Video Solution

130. Name the orbitals present in p sub-shell.

o Watch Video Solution



https://dl.doubtnut.com/l/_to4WckBklrJ5
https://dl.doubtnut.com/l/_8ojp5vkk8HXp
https://dl.doubtnut.com/l/_ZBItPq6du9qG
https://dl.doubtnut.com/l/_EB3xrhQk5Kue
https://dl.doubtnut.com/l/_yNjXJvmYAVXD

131. Can we apply this equation ¢ = v, to a sound wave '?

o Watch Video Solution

132. Write the four quantum numbers for the differentiating electrons

of lithium (Li) atom .

o Watch Video Solution

133. Write four quantum numbers for 2p' electron .

o Watch Video Solution

134. Which rule is violted in the following electronic configuration.

Do

.



https://dl.doubtnut.com/l/_yNjXJvmYAVXD
https://dl.doubtnut.com/l/_3jCL6gHFFhds
https://dl.doubtnut.com/l/_UtMYsjZGndD3
https://dl.doubtnut.com/l/_RpoRG4ppDxg9
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135. What is spectrum? How many types of spectrum are there?

o Watch Video Solution

136. When does electromagnetic waves produce ?

o Watch Video Solution

137. What is dispersion ?

° Watch Video Solution

138. Explain briefly about spin quantum number.

° Watch Video Solution



https://dl.doubtnut.com/l/_RpoRG4ppDxg9
https://dl.doubtnut.com/l/_5i5wSYMa1Zvn
https://dl.doubtnut.com/l/_68a2N3C4DLxT
https://dl.doubtnut.com/l/_gwdtSjnN5dH8
https://dl.doubtnut.com/l/_ced0JfLFaLRf

139. Draw the diagram of Hydrogen spectrum.

o Watch Video Solution

140. Explain Aufbau principle with an example .

o Watch Video Solution

141. Explain Hund's rule with an example .

o Watch Video Solution

142. Write electronic configurations of following elements.

Hydrogen

o Watch Video Solution



https://dl.doubtnut.com/l/_BLDKSuB9spiv
https://dl.doubtnut.com/l/_WGtMIfkKFvFy
https://dl.doubtnut.com/l/_QxtjF9NI1EGH
https://dl.doubtnut.com/l/_GpIJtyRI1XQ4
https://dl.doubtnut.com/l/_BVMqOK3nRPBI

143. Write electronic configurations of following elements.

Helium

o Watch Video Solution

144. Write electronic configurations of following elements.

Lithium

o Watch Video Solution

145. Write electronic configurations of following elements.

Beryllium

o Watch Video Solution

146. Write electronic configurations of following elements.

Boron


https://dl.doubtnut.com/l/_BVMqOK3nRPBI
https://dl.doubtnut.com/l/_ycuHDWIZRVUv
https://dl.doubtnut.com/l/_52eKtyZaQCFx
https://dl.doubtnut.com/l/_bQflfPiOm0f4

o Watch Video Solution

147. Expand VIBGYOR.

o Watch Video Solution

148. How do we get a rainbow ?

o Watch Video Solution

149. Why rainbow always forms opposite to the sun ?

o Watch Video Solution

150. What does a line spectrum tell us about the structure of an atom?

o Watch Video Solution



https://dl.doubtnut.com/l/_bQflfPiOm0f4
https://dl.doubtnut.com/l/_9JYC7N6v8toB
https://dl.doubtnut.com/l/_5b9vr6XzkI2g
https://dl.doubtnut.com/l/_pvk0XNS3Tdq1
https://dl.doubtnut.com/l/_x1Fz4BT44tLM

151. How are two electrons in the Helium atom arranged ?

o Watch Video Solution

152. How many electrons are occupied by an orbital ?

o Watch Video Solution

153. Your father asked you to go to the market and purchases an
electric lamp. The shopkeeper displayed two lamps one is violet and
another is red, which coloured lamp do you purchases to put in your

bed room ? Support your choice of solution.

o Watch Video Solution

154. The electronic configuration of copper is


https://dl.doubtnut.com/l/_x1Fz4BT44tLM
https://dl.doubtnut.com/l/_depE73C5geLj
https://dl.doubtnut.com/l/_TNcLmNWDYmAW
https://dl.doubtnut.com/l/_4bHZvFKkklRm
https://dl.doubtnut.com/l/_AxMtyipgc46f

o Watch Video Solution

155. Why are chromium and copper exceptions to electronic

configuration ?

o Watch Video Solution

156. What is relation between subshell (I) and maximum number of

electrons ?

o Watch Video Solution

157. Distinguish between line and band spectrum.

o Watch Video Solution



https://dl.doubtnut.com/l/_AxMtyipgc46f
https://dl.doubtnut.com/l/_nj9sNCFGLRgT
https://dl.doubtnut.com/l/_zc5qI2DPXYEU
https://dl.doubtnut.com/l/_TftwsK1EhEzw

158. How do the vibrating electric and magnetic fields around the

charge become a wave that travels through space?

o Watch Video Solution

159. The electronic configuration of an atom is as follows 15, 252, 2p°.

Which element's atom is it ?

o Watch Video Solution

160. The electronic configuration of an atom is as follows 1s2, 252, 2p°.

Which orbital is the last electron in ?

o Watch Video Solution



https://dl.doubtnut.com/l/_tzRF9TdqYMVJ
https://dl.doubtnut.com/l/_BJbTHztwkM1c
https://dl.doubtnut.com/l/_oCqc3jnF9j9T

161. The electronic configuration of an atom is as follows 152, 2s%, 2p%.
When excited what could be the number of lone / single electrons in

this atom ?

° Watch Video Solution

162. The electronic configuration of an atom is as follows: What is the

value of principal quantum numbers of two electrons in the first box ?

o Watch Video Solution

163. An electron is an atom has the following set four quantum

numbers to which orbits it belongs to ?

n|l |m; | mg
3/0/0 |+3



https://dl.doubtnut.com/l/_Uq5vs7qCzobW
https://dl.doubtnut.com/l/_MTBSkvACeRJs
https://dl.doubtnut.com/l/_NAiG8Ebpt8ha

o Watch Video Solution

164. Draw the diagram of electromagnetic wave

o Watch Video Solution

165. Explain electromagnetic spectrum. Draw its diagram.

o Watch Video Solution

166. What information do the quantum numbers provide ?

o Watch Video Solution

167. Explain Pauli's Exclusion principle with an example.

o Watch Video Solution



https://dl.doubtnut.com/l/_NAiG8Ebpt8ha
https://dl.doubtnut.com/l/_7hAf4TH5InXk
https://dl.doubtnut.com/l/_OQFvuOq0VFgq
https://dl.doubtnut.com/l/_JEzrXbDnbFhH
https://dl.doubtnut.com/l/_3X45sQbRJgen

168. Draw Moeller chart of Ctlling order of atomic orbitals.

o Watch Video Solution

169. Where do the rains come from? explain in detailed way.

o Watch Video Solution

170. Draw the shapes of s, p and d orbitals.

o Watch Video Solution

171. Distinguish between emission and absorption spectrum.

o Watch Video Solution



https://dl.doubtnut.com/l/_3X45sQbRJgen
https://dl.doubtnut.com/l/_dLXl5DzKyA4H
https://dl.doubtnut.com/l/_YYNid8sJHS8A
https://dl.doubtnut.com/l/_hQGcKxdNSqws
https://dl.doubtnut.com/l/_82lFqWTJWf6b
https://dl.doubtnut.com/l/_ndPhA4tELJIy

172. Explain Bohr’s model of hydrogen atom and its limitations.

o Watch Video Solution

173. Explain Bohr- Sommerfeld model of an atom. What is the merit of

this model? What are its limitations?

o Watch Video Solution

174. What are the elliptical orbits proposed by Sommerfeld ?

o Watch Video Solution

175. What is the use of quantum numbers ?What is electronic

configuration ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ndPhA4tELJIy
https://dl.doubtnut.com/l/_GTRelAcqJgSg
https://dl.doubtnut.com/l/_eITHKWypuHV6
https://dl.doubtnut.com/l/_eQb6EgT8Teh3
https://dl.doubtnut.com/l/_8Yl2mu7U8A4C

176. Why do an orbital can occupy only two electrons in it ?

o Watch Video Solution

177.The wavelength range of the visible spectrum extends from violet
(400 nm) to red (750nm). Express these wavelengths in frequencies

(Hz) .(Inm = 10" °m)

o Watch Video Solution

178. Calculate

frequency of yellow radiation having wavelength 5800 A .

° Watch Video Solution

179. An atomic orbital has n = 2. What are the possible values of | and

m, ?


https://dl.doubtnut.com/l/_8Yl2mu7U8A4C
https://dl.doubtnut.com/l/_sWhT9dQZEbDy
https://dl.doubtnut.com/l/_Nj8sUP2cnjnB
https://dl.doubtnut.com/l/_S6zxJ5ID744Q

o Watch Video Solution

180. The quantum numbers of electrons are given below. Arrange them
in order of increasing energies . Do any of these combinations have
same energy ?

an=41=2m = —2,m;,= +1/2

byn=3,l=2,m = —1,m;,= —1/2

aon=4l=1,m =0,m, = +1/2

dn=31l=1m = —1,m,= —1/2

o Watch Video Solution

181. Why do different elements emit different flame colours when

heated by the same non - luminous flame ?

o Watch Video Solution



https://dl.doubtnut.com/l/_S6zxJ5ID744Q
https://dl.doubtnut.com/l/_GnJTnEgP5Bim
https://dl.doubtnut.com/l/_23dFLZfJJkz0

182. What is electromagnetic specturm ?

o Watch Video Solution

183. Do the electrons follow defined paths around the nucleus

o Watch Video Solution

184. What is the maximum number of electrons that can be kept in 'N'

shell ? What is the rule followed ?

o Watch Video Solution

185. What are the failures of Bohr's model of atom ?

o Watch Video Solution



https://dl.doubtnut.com/l/_EV0Q52lYq2Kk
https://dl.doubtnut.com/l/_l8wViSRFvfIV
https://dl.doubtnut.com/l/_x36yL2gMcKTA
https://dl.doubtnut.com/l/_XyA8j3fHRMhW
https://dl.doubtnut.com/l/_M0rLqDfdkMkg

186. "Each element emits its own characteristic colour". Write the

process to prove this.

o Watch Video Solution

187. What is the main failure of Bohr-Sommerfeld model ?

o Watch Video Solution

188. What is the use of quantum numbers ?What is electronic

configuration ?

° Watch Video Solution

Exercise



https://dl.doubtnut.com/l/_M0rLqDfdkMkg
https://dl.doubtnut.com/l/_kcdqnKw1dqcg
https://dl.doubtnut.com/l/_ks6WoMJxE7Xt

1. An emission spectrum consists of bright spectral lines on a dark

back ground. Which one of the following does not correspond to the

bright spectral lines ?

A. Frequency of emitted radiation

B. Wavelength of emitted radiation

C. Energy of emitted radiation

D. Velocity of light

Answer:

o Watch Video Solution

2. The maximum number of electrons that can be accommodated in

the L-shell of an atomis

A2


https://dl.doubtnut.com/l/_8T0BHY2CNnp4
https://dl.doubtnut.com/l/_a08hxYnJEEGo

B.4

C.8

D.16

Answer:

o Watch Video Solution

3.If | =1for an atom, then the number of orbitals in its sub-shell is

Al
B.2
C.3

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_a08hxYnJEEGo
https://dl.doubtnut.com/l/_pgd5ZMpQBdbk

4. The quantum number which explains about size and energy of the

orbit or shell is

Answer:

o Watch Video Solution

5.Bohr's model can explain

o Watch Video Solution



https://dl.doubtnut.com/l/_pgd5ZMpQBdbk
https://dl.doubtnut.com/l/_ZPUWuzXiWIpD
https://dl.doubtnut.com/l/_W2Xil8ryhVnp

6. What is the use of quantum numbers ?What is electronic

configuration ?

° Watch Video Solution

7.What is Aufbau principle ?

o Watch Video Solution

8. What information does the electronic configuration of an atom

provide ?

o Watch Video Solution

9. What is an orbital ?

o Watch Video Solution



https://dl.doubtnut.com/l/_g5XaXYdraGZm
https://dl.doubtnut.com/l/_J1h9GtjycJiW
https://dl.doubtnut.com/l/_7eWEnr8CG9yT
https://dl.doubtnut.com/l/_vFB9wjiRAttl

10. Which electron shell is at a higher energy level Kor L ?

o Watch Video Solution

11. Who introduced magnetic quantum number ?

A. Lande

B. Bohr

C. Sommerfeld

D. Goudsmit

Answer:

o Watch Video Solution

12. What is the shape of d-orbital ?


https://dl.doubtnut.com/l/_vFB9wjiRAttl
https://dl.doubtnut.com/l/_tksTTm4V5OxR
https://dl.doubtnut.com/l/_cLxXTF7XYwv5
https://dl.doubtnut.com/l/_76Z9W8t9JSit

A. spherical

B. dumb-bell

C. double dumb-bell

D. f- orbital

Answer:

o Watch Video Solution

13.'l' ' value of d- orbital is

A. s - orbital

B. p - orbital

C.d - orbital

D. f - orbital

Answer:



https://dl.doubtnut.com/l/_76Z9W8t9JSit
https://dl.doubtnut.com/l/_RI11w2waaG9X

| @Y Watch Video Solution

14.15%25%2p" is the electronic configuration of

A. Beryllium
B. Boron
C. Carbon

D. Nitrogen

Answer:

o Watch Video Solution

15. Which of the following elements have high atomic weight ?

A. Barium

B. lodine


https://dl.doubtnut.com/l/_RI11w2waaG9X
https://dl.doubtnut.com/l/_mzcTHKsx7Fyh
https://dl.doubtnut.com/l/_T3iDymXc5rBs

C. Tellurium

D. Iron

Answer:

o Watch Video Solution

16. Who proposed the spectrum of hydrogen atom ?

A. Bohr
B. Sommerfeld
C. Planck

D. Lande

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_T3iDymXc5rBs
https://dl.doubtnut.com/l/_mqiaSEh5veAk
https://dl.doubtnut.com/l/_MRPA5vHbqBIa

17. How many number of orbitals are there in the sub-shell of a

magnetic quantum number if | =3 ?

Al
B.3
C.5

D.7

Answer:

° Watch Video Solution

18. The values of spin quantum numbers are (m)

A. +1/2
B.-1/2

C.Aand B


https://dl.doubtnut.com/l/_MRPA5vHbqBIa
https://dl.doubtnut.com/l/_Ev0Eg1QLZOY6

D. None of these

Answer:

o Watch Video Solution

19. Name the principle , which says an orbital can hold only 2 electrons

and explain .

A. Pauli

B. Aufbau

C.Hund's

D. All of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ev0Eg1QLZOY6
https://dl.doubtnut.com/l/_q65jB5IarKzf

20. What is the shape of p-orbital ?

A. spherical

B. dumbbell

C.double dumbbell

D. All of these

Answer:

o Watch Video Solution

21. Principal quantum number is related to

A. Principal quantum numbber (n)
B. Angular - momentum quantum number(l)
C. Magnetic quantum number (m;)

D. Spin quantum number(m;)


https://dl.doubtnut.com/l/_rOvjSDtTBisz
https://dl.doubtnut.com/l/_Pxhx9MkfSCwM

Answer:

o Watch Video Solution

22. Is there any rule to find the maximum number of electrons in any
shell ?

A.2n

B. 2n°

C. 1n?

D. 2n?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Pxhx9MkfSCwM
https://dl.doubtnut.com/l/_Ojwqg0VZtL4u

23. Which quantum number describes the orientation of the orbital in

space ?

A. Principal quantum number

B. Angular-momentum quantum number

C. Magnetic quantum number

D. Spin quantum number

Answer:

o Watch Video Solution

24. If both spin quantum number values are positive then the spins

A. Parallel

B. Perpendicular


https://dl.doubtnut.com/l/_PYmU1KDypX5b
https://dl.doubtnut.com/l/_iyFzP9aBBteT

C. Intersects

D. Coincidence

Answer:

o Watch Video Solution

25. Among 3s, 3p,4s, 3d which has lowest energy?

A.3s

C.4s

D.3d

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iyFzP9aBBteT
https://dl.doubtnut.com/l/_VCwcdZm2a9yX
https://dl.doubtnut.com/l/_P8jjgIy7weKi

26. What is the shape of s-orbital ?

A. Spheical

B. Dumbbell

C. Double dumbbell

D. None of these

Answer:

o Watch Video Solution

27. Which of the following produces yellow light ?

a) Sodium lamp b) Sunlight c) LPG gas

A. Sodium

B. Calcium

C. Potassium


https://dl.doubtnut.com/l/_P8jjgIy7weKi
https://dl.doubtnut.com/l/_TC7uo0uH2YYZ

D. Cesium

Answer:

o Watch Video Solution

28. Who modified Bohrs theory by introducing elliptical orbits for

electron path?

A. Sommerfeld

B. Lande

C. Goudsmit

D. Uhlenbeck

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TC7uo0uH2YYZ
https://dl.doubtnut.com/l/_ymcf5IN6bOBa

29.The range of wavelengths converging red colour to violet colour is

calledthe

A. Electromagnetic spectrum

B. Absorption spectrum

C. Visible spectrum

D. All of these

Answer:

o Watch Video Solution

30. Which of the following is responsible to rule out the existence of

definite paths or trajectories of electrons ?

A. Pauli's exclusion principle

B. Hund's rule


https://dl.doubtnut.com/l/_jcLHOrRu56lL
https://dl.doubtnut.com/l/_I6jQDMppyUOB

C. Heisenberg uncertainty principle

D. Aufbau's rule

Answer:

o Watch Video Solution

31. Total number of orbitals associated with third shel would be

A2

B.4

C.9

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_I6jQDMppyUOB
https://dl.doubtnut.com/l/_UjuN9UruOSBz
https://dl.doubtnut.com/l/_RlbAuORckzfw

32. Orbital angular momentum depends upon

Al

B.n and |

C.nand m

D.mand s

Answer:

o Watch Video Solution

33. Which of the following shell has least energy?

AL

B.M

C.K

D.N


https://dl.doubtnut.com/l/_RlbAuORckzfw
https://dl.doubtnut.com/l/_Uky49dnyhZni

Answer:

° Watch Video Solution

34. Bohr’s atomic model explains the spectrum of

A.H

B.He™"

C.Li"2

D. All

Answer:

° Watch Video Solution

35.Speed of light is

A.3 x 10%cm /sec



https://dl.doubtnut.com/l/_Uky49dnyhZni
https://dl.doubtnut.com/l/_wkkl2RBN3Ul9
https://dl.doubtnut.com/l/_ZmctQ5ZmP8eK

B.3 x 10%m /sec
C.3 x 10" /sec

D.3 x 10'%m /sec

Answer:

o Watch Video Solution

36. Which colour has lower energy ?

A. violet

B. blue

C. green

D.red

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZmctQ5ZmP8eK
https://dl.doubtnut.com/l/_hvU1zwACQbyF

37. How many elliptical orbits are possible for a given n = 6?

A4

B.3

C.5

D.7

Answer:

o Watch Video Solution

38. Which of the following shell has least energy?

A.3s

C.3d


https://dl.doubtnut.com/l/_hvU1zwACQbyF
https://dl.doubtnut.com/l/_Wi4Quu9xC5S8
https://dl.doubtnut.com/l/_OkA5IGVJuRYc

D. 6s

Answer:

o Watch Video Solution

39. Which of the following shells has highest energy

A. 4s
B.3p
C.3d

D.4p

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OkA5IGVJuRYc
https://dl.doubtnut.com/l/_HZAd6IRZNHqV

40. Who modified Bohr's theory by introducing elliptical orbits for

electron path?

A. Rutherford
B. Thomson
C. Sommerfeld

D. Hund

Answer:

° Watch Video Solution

41. Which of the following electronic configuration corresponds to an

inert gas ?

A 1522322])5

B. 1s22s22p"6'


https://dl.doubtnut.com/l/_T2ZzcUJzgSww
https://dl.doubtnut.com/l/_ESwjd2oBuDug

C. 13223221)6351

D. None of these

Answer:

o Watch Video Solution

42. According to Aufbau principle, electron enter first into which of the

following orbital ?

A. Highest energy

B. Lowest energy

C. Nearly equal energy

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ESwjd2oBuDug
https://dl.doubtnut.com/l/_DVOfZ7dzbgfn

43. The magentic quantum number, m for the outermost electron in

the sodium atom is

A.O

B.+1

Answer:

° Watch Video Solution

44, The maximum number of electrons that can be accommodated in

all the orbitals for whichl = 3 .1Is

A.6

B.10


https://dl.doubtnut.com/l/_525ycSWwlwiO
https://dl.doubtnut.com/l/_opuBrLjiMtWE

C.14

D.18

Answer:

o Watch Video Solution

45. When 4p orbital in any atom is filled completelythe next electron

goes in

A. 5s
B. 3d
C.4d

D. 4f

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_opuBrLjiMtWE
https://dl.doubtnut.com/l/_NwNGDnfg2REx

46. Nitrogen atom has 3 unpaired electrons in its ground state. It can

be explained by

A. Pauli's exclusion principle

B. Aufbaur principle

C. Hund's principle

D. Heisenberg's uncertainty principle

Answer:

o Watch Video Solution

47. All the four quantum numbers may not be the same for any two

electrons in a single orbital. This is known as

A. Pauli's exclusion principle

B. Hund's rule


https://dl.doubtnut.com/l/_lLzejXI4oOTh
https://dl.doubtnut.com/l/_lDdApvJrv0yG

C. Aufbau principle

D.n + | rule

Answer:

o Watch Video Solution

48.The n + | value of 3d orbital is

A4

B.3

C.5

D.6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_lDdApvJrv0yG
https://dl.doubtnut.com/l/_BDkQNTq8fn0j
https://dl.doubtnut.com/l/_GIt04dKlnj0g

49. The atomic number (Z) of an element is 25. In its ground state, how
many electrons are present in "N" shell ?

A.18

B.8

C.32

D.2

Answer:

o Watch Video Solution

50. What is called the splitting of light into different colours ?

A. Reflection

B. Diffraction

C. Interference


https://dl.doubtnut.com/l/_GIt04dKlnj0g
https://dl.doubtnut.com/l/_iObBLPmOMOgp

D. Dipersion

Answer:

o Watch Video Solution

51. In an electromagnetic wave electric, magnetic fields are to

each other.

A. parallel

B. Perpendicular

C. collinear

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iObBLPmOMOgp
https://dl.doubtnut.com/l/_i5RAbvbayxGT

52.The orbit of least energy

A K

B.L

CM

D.N

Answer:

o Watch Video Solution

53. Among 3p, 4s, 3d, 4p orbitals which has least energy ?

A.3p

B. 4s

C.3d

D.4p


https://dl.doubtnut.com/l/_aj0QfG350cuD
https://dl.doubtnut.com/l/_eoDS0vw49Ige

Answer:

o Watch Video Solution

54.The quantum number which explains about size and energy of the

orbit or shell is

Answer:

o Watch Video Solution

55.The sub shells present in L shell are


https://dl.doubtnut.com/l/_eoDS0vw49Ige
https://dl.doubtnut.com/l/_Yjd9ifkS12XO
https://dl.doubtnut.com/l/_55GUfxjISNcz

A.sand d

B.sand p

C.spandd

D.s,p,d and f

Answer:

o Watch Video Solution

56. The maximum value of | for n=5is

A5

B.3

D.4

Answer:



https://dl.doubtnut.com/l/_55GUfxjISNcz
https://dl.doubtnut.com/l/_HL60ilCEifBT

| @9 Watch Video Solution

57.F orbitals are present in

A. K - shell

B.L-shell

C. M - shell

D. N - shell

Answer:

o Watch Video Solution

58. The number of m; values for [ = 3 is,

Al

B.3


https://dl.doubtnut.com/l/_HL60ilCEifBT
https://dl.doubtnut.com/l/_p9U5TGy2wubg
https://dl.doubtnut.com/l/_pCrOjXiZqLKr

C.7

D.9

Answer:

o Watch Video Solution

59. The quantum number which give shape of orbital

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pCrOjXiZqLKr
https://dl.doubtnut.com/l/_l2rGzVIJBLDe
https://dl.doubtnut.com/l/_XKpwAtegSNqS

60. Write an activity which shows metal produces colour in flame.

A. Crimson red

B. Blue

C. Green

D. Apple green

Answer:

o Watch Video Solution

61. When an electron jumps from higher energy state to lower energy
stateit  energy.

A. emits

B. absorbs

C. neither emit nor absorbs


https://dl.doubtnut.com/l/_XKpwAtegSNqS
https://dl.doubtnut.com/l/_OsyDU3mHoHFG

D. none of these

Answer:

o Watch Video Solution

62. 1t is not possible to determine precisely both the position and the
momentum or velocity) of a small moving particle (e.g. electron ,
proton, etc)
The above statements is known as :

A. Aufbau principle

B. Hund's rule

C. Pauli's exclusion principle

D. Heisenberg's uncertainty principle

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_OsyDU3mHoHFG
https://dl.doubtnut.com/l/_yA9Y9KHPmm5C

63. Quantum mechanical model of an atom was developed

A. Neils Bohr

B. de Brogile

C. Heisenberg

D. Erwin Schrodinger

Answer:

o Watch Video Solution

64. The space around the nucleus where the probability of finding an

electron is maximum is called:

A. Orbit

B. Nucleus


https://dl.doubtnut.com/l/_yA9Y9KHPmm5C
https://dl.doubtnut.com/l/_W4erFr67xiTj
https://dl.doubtnut.com/l/_WOhxky7PR7tR

C. Orbital

D. None of these

Answer:

o Watch Video Solution

65. Orbital quantum gives _

A. shape of orbital

B. size and energy of orbital

C. orientation of orbital

D. spin of electrons

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WOhxky7PR7tR
https://dl.doubtnut.com/l/_vLOpShlgrQsp
https://dl.doubtnut.com/l/_VwCkG7d6lI56

66. Splitting of spectral lines in magnetic field is known as

A. magnetic

B. electric

C.both

D. None of these

Answer:

o Watch Video Solution

67. The electronic configuration of chromium (Z=24) is

A. (Ar)4s®3d®
B. (Ar)4s°3d*
C. (Ar)4s'3d®

D. (Ar)4s'3d°


https://dl.doubtnut.com/l/_VwCkG7d6lI56
https://dl.doubtnut.com/l/_USliwsYViKQS

Answer:

o Watch Video Solution

68. Noble gases belong to the following group

A VA

B.VIA

C.VIIA

D.VIII A

Answer:

o Watch Video Solution

69. (A): Radio waves can be polarized

(R): Sound waves in air longitudinal in nature.


https://dl.doubtnut.com/l/_USliwsYViKQS
https://dl.doubtnut.com/l/_pGd2B1OCgBlD
https://dl.doubtnut.com/l/_vPK2JvYw6Aey

A. Micro

B. Radio

C.uv

D.IR

Answer:

o Watch Video Solution

70. As ‘n’ increases size of the orbital

A. increases

B. decreases

C.does not change

D. None of these

Answer:



https://dl.doubtnut.com/l/_vPK2JvYw6Aey
https://dl.doubtnut.com/l/_pNG5pa0yvMO6

| @Y Watch Video Solution

71. What is the value of Planck's constant

A.6.62 x 10734 J /s
B.6.62 x 10" 2"J /s
C.6.62x 10" /s

D.6.62 x 10" *J /s

Answer:

o Watch Video Solution

72. Which principle/rule states that two electrons of the same atom

can't have all 4 same quantum numbers ?

A. Pauli's exclusion principle


https://dl.doubtnut.com/l/_pNG5pa0yvMO6
https://dl.doubtnut.com/l/_o0zIl36jpsWu
https://dl.doubtnut.com/l/_ZtJCJqh3KsrE

B. Aufbau principle

C. Hund's rule

D. Flemming's left hand rule

Answer:

° Watch Video Solution

73. The maximum number of electrons present in K shell are

A2

B.4

C.6

D.8

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZtJCJqh3KsrE
https://dl.doubtnut.com/l/_vc0mzHpQI65C

74. Principal Quantum number 3 refers to

A. M - main shell

B.f-sub shell

C. N - main shell

D.d - sub shell

Answer:

o Watch Video Solution

75. The maximum number of electrons that can be accommodated in

all the orbitals for whichl = 3 .1Is

A.6

B.10


https://dl.doubtnut.com/l/_vc0mzHpQI65C
https://dl.doubtnut.com/l/_MOZs8UPiWUtG
https://dl.doubtnut.com/l/_I6A0USFwDNuL

C.14

D.18

Answer:

o Watch Video Solution

76. Aufbaur : lowest energy orbital ::

A. Exclusion principle

B. degenerate orbital

C. Quantum number

D. elliptical

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_I6A0USFwDNuL
https://dl.doubtnut.com/l/_CirgN8GHvpma
https://dl.doubtnut.com/l/_gOQh5L3PcdWV

77.The quantum number which explains about size and energy of the

orbit or shell is

Answer:

° Watch Video Solution

78. Find the odd one out.

1) E = hd .E]Il'l!E

' J
E

3]“5""“ 4) h= Ef

A2



https://dl.doubtnut.com/l/_gOQh5L3PcdWV
https://dl.doubtnut.com/l/_MTzrCmxzHTcp

B.1

C.4

D.3

Answer:

° Watch Video Solution

79. what is the outer most electronic condfiguration of Na ™ ?
A. 1322322176351
B. 13223221)6
C. 15%25%2p% s2 5"

D. 15%2s% 2p"6 352"

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MTzrCmxzHTcp
https://dl.doubtnut.com/l/_adVpvvQhK0IS

80. Which of the following statements is correct

A. The maximum number of unpaired electrons in a sub-shell is
equal to 2| +1.

B. The maxium value of magnetic moment for an atom with |=2 sub-
shell is 3.9.

C. The total spin of 3d® configuration is 3.

D.Both Aand B

Answer:

o Watch Video Solution

81. Which of the following conclusions cannot be drawn on the basis

of Paulis principle ?


https://dl.doubtnut.com/l/_adVpvvQhK0IS
https://dl.doubtnut.com/l/_u33h8lr3N2E9
https://dl.doubtnut.com/l/_b7WxQX7wbqJA

A. An orbital contains a maxium of 2 electrons

B. The electrons in an orbital possess opposite spins.

C. The maximum number of electrons in a shell is 2n?.

D. The maximum number of unpaired electrons in a sub-shell is

equal to the number of orbitals in it.

Answer:

o Watch Video Solution

82. Which of the following statements are true regarding an orbital ?

A. Orbital corresponds to stationary orbit of Bohr.

B. Orbital indicates the space with maximum probability of finding

an electron.

C. Orbital contains electrons with parallel spins.


https://dl.doubtnut.com/l/_b7WxQX7wbqJA
https://dl.doubtnut.com/l/_zDLDCIb8CQKM

D. Orbitals of the same sub-shell are degenerate under normal

conditions.

Answer:

o Watch Video Solution

83. Choose the correct answer for the following.

Group - A 1 Group - B
i) Size and energy | ) a) spin quantum
number
ii) Shape of the
orbital { ] b) Principle

quantum number
iii} Orientation of
orbital with external
magnetic field { )} ¢} Angular
momentum
quantum number
iv) Spin of electron | ) d) Magnetic
about its own axis quantum number

1



https://dl.doubtnut.com/l/_zDLDCIb8CQKM
https://dl.doubtnut.com/l/_MHuoNdFxDFvi

A. i-a,ii-bjii-c,iv-d

B. i-b,ii-c,iii-d,iv-a

C. i-b,ii-d,jii-c,iv-a

D. i-a,ii-c,iii-d,iv-b

Answer:

o Watch Video Solution

84. Which of the following electronic configuration represents the

violation of both Aufbaur principle and Hund's rule ?

(##BYD_PHY SCI X P1 C06 EO2 077 OOl.png" width="30%">

(##BYD_PHY SCI X P1 CO6 E02 077 002.png" width="30%">


https://dl.doubtnut.com/l/_MHuoNdFxDFvi
https://dl.doubtnut.com/l/_ztLZUheuLzZR

(##BYD_PHY SCI X P1 C06 E02 077 003.png" width="30%">

(##BYD_PHY SCI X P1 CO6 EO2 077 004.png" width="30%">

Answer:

o Watch Video Solution

85. Which of the following represent Px orbital ?

(##BYD_PHY SCI X P1 C06 E02 078 002.png" width="30%">


https://dl.doubtnut.com/l/_ztLZUheuLzZR
https://dl.doubtnut.com/l/_WcOMvMajh7Dt

(##BYD_PHY SCI X P1 C06 E02 078 003.png" width="30%">

(##BYD_PHY SCI X P1 C06 E02 078 004.png" width="30%">

Answer:

o Watch Video Solution

86. Which of the following represent d% — y? orbital ?

(##BYD_PHY SCI X P1 C06 E02 079 001.png" width="30%">

(##BYD_PHY SCI X P1 C06 E02 079 002.png" width="30%">


https://dl.doubtnut.com/l/_WcOMvMajh7Dt
https://dl.doubtnut.com/l/_u4Yin2roPkuK

(##BYD_PHY SCI X P1 C06 E02 079 003.png" width="30%">

(##BYD_PHY SCI X P1 C06 E02 079 004.png" width="30%">

Answer:

o Watch Video Solution

87. Which of the following represent d, z orbital ?

(##BYD_PHY SCI X P1 C06 EO2 080 001.png" width="30%">

(##BYD_PHY SCI X P1 CO6 EO2 080 002.png" width="30%">


https://dl.doubtnut.com/l/_u4Yin2roPkuK
https://dl.doubtnut.com/l/_wnPsxQKDpbmZ

(##BYD_PHY SCI X P1 C06 EO2 080 003.png" width="30%">

(##BYD_PHY SCI X P1 C06 E02 080 004.png" width="30%">

Answer:

o Watch Video Solution

88. How many values can | have forn=47?

A3

B.7

C.5

D.4

Answer:



https://dl.doubtnut.com/l/_wnPsxQKDpbmZ
https://dl.doubtnut.com/l/_mql8PZZ1BFGH

| @Y Watch Video Solution

89.In nl ™ corresponding letters represents :
n-represents principal quantum number

X -represents number of electrons in orbital.
I-represents number of orbitals.

| - represents the angular momentum quantum number.

B.a,b,c
C.a,b,d

D. b,c

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mql8PZZ1BFGH
https://dl.doubtnut.com/l/_DcUgNuywEqyy

90. Electrons in an orbital can be accommodates as follows :

The maxium number of electrons that can be accommodated in an
orbital is 2.

the electrons have opposite spin in an orbital.

Low level energy orbitals filled first.

The maximum spin of an electrons is +1. Find out the correct

statments

A ab

B.d

C.ab,c

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_cODPJ41Go5RI

91. The number of electrons in a sub-shell is as follows :
s=2 electrons

p = 6 electrons

d =12 electrons

f =14 electrons Pick out the correct statement.

C.ad

D. a,b,d

Answer:

° Watch Video Solution

92. Which of the following is defect in Bohr theory ?


https://dl.doubtnut.com/l/_dUkStvX3gMu7
https://dl.doubtnut.com/l/_VX6tmfOLu8GU

A. It could not explain the spectrum in atoms containing more

than one electron.

B. It could not explain fine structure of the spectrum.

C. It could not explain formation of chemical bonds.

D. All the above

Answer:

o Watch Video Solution

93. Which of the following is wrong ?

A. Electromagnetic waves causes magnetic and electric fields

B. Light is not propogated in vacuum

C. Electric and Magnetic fields are perpendicular to each other

D. All electromagnetic radiations travel with same speed.


https://dl.doubtnut.com/l/_VX6tmfOLu8GU
https://dl.doubtnut.com/l/_JgemTMZGyKm2

Answer:

o Watch Video Solution

94.n =2, =1, then the orbtial is represented as

A.2s

C.3s

D. 2d

Answer:

o Watch Video Solution

95. If two orbitals have’same (n + 1) value then

A. The orbital with low 'n' value has highest energy


https://dl.doubtnut.com/l/_JgemTMZGyKm2
https://dl.doubtnut.com/l/_IMLLvgkkNQV2
https://dl.doubtnut.com/l/_6Do4MeKOO3Xa

B. The orbital with more 'n' value has highest energy

C. The orbital with low 'I' value has higest energy

D. All are correct

Answer:

° Watch Video Solution

96. The electronic configuration of nitrogen in denoted as This violates

RO [FIRT ]
2p?

1s? 2s*

A. Aufabu's principle
B. Hund's principle

C. Pauli's principle


https://dl.doubtnut.com/l/_6Do4MeKOO3Xa
https://dl.doubtnut.com/l/_m8jOFqhn44yI

D. Aufbau and Hund's principle

Answer:

o Watch Video Solution

97. For an atom Sommerfeld picture is

=2 j_1 1=0

A. K shell
B. L shell
C. M shell

D. N shell

Answer:


https://dl.doubtnut.com/l/_m8jOFqhn44yI
https://dl.doubtnut.com/l/_o38nlTiqFIgx

o Watch Video Solution

98. Which of the following is true according to quantum mechanical

model of an atom?

A. It was proposed by Erwin Schrodinger.

B. Simultaneously the position and velocity of and electron cannot

be be measured accurately.

C. Electrons are present in a particular region around the nucleus

D. All are correct

Answer:

° Watch Video Solution

99, Principal quantum number is related to


https://dl.doubtnut.com/l/_o38nlTiqFIgx
https://dl.doubtnut.com/l/_c153ejmfHT3o
https://dl.doubtnut.com/l/_f9qk4cbjmSdG

A. Size of the orbit

B. Spin angular momentum

C. Orbital angular momentum

D. Orientation of orbital in space

Answer:

o Watch Video Solution

100. Which of the following alloys contains Cu and Zn ?

(##BYD _PHY SCI X P1 C06 EO2 093 OO1.png" width="30%">

(##BYD_PHY SCI X P1 CO6 E02 093 002.png" width="30%">


https://dl.doubtnut.com/l/_f9qk4cbjmSdG
https://dl.doubtnut.com/l/_C3MdR0dzYCyZ

Answer:

o Watch Video Solution

101. n and 'l' values for some orbitals are given. Which of the following

orbital has highest energy ?

Aln=21=0

B.2.n=3,1=1

C.3.n=4,1=0

D.4.n=3]=2


https://dl.doubtnut.com/l/_C3MdR0dzYCyZ
https://dl.doubtnut.com/l/_MfsJAyhHlmVm

Answer:

o Watch Video Solution

102. Which of the following is violation of Pauli's exclusion principle ?

(##BYD _PHY SCI X P1 CO6 EO2 095 OO1.png" width="30%">

(##BYD_PHY SCI X P1.C06 E02 095 002.png" width="30%">

(##BYD PHY SCI X P1 CO6 E02 095 003.png" width="30%">

(##BYD_PHY SCI X P1 CO6 EO2 095 004.png" width="30%">

Answer:

| ° wAar_a_ L vl e~_0..a_


https://dl.doubtnut.com/l/_MfsJAyhHlmVm
https://dl.doubtnut.com/l/_4xtMRYts011A

L T Vvvallll viucCo o0VIuLivI )

103. When electric charge vibrates ~ are produced.

A. electric waves

B. magnetic waves

C. electromagnetic waves

D. stationary waves

Answer:

o Watch Video Solution

104. The range of wavelengths converging red colour to violet colour

is called the

A. UV. spectrum

B. Visible spectrum


https://dl.doubtnut.com/l/_4xtMRYts011A
https://dl.doubtnut.com/l/_QSNNvQ2SnHlU
https://dl.doubtnut.com/l/_X7QblaTVS9q4

C.LLR. spectrum

D. Line spectrum

Answer:

o Watch Video Solution

105. Select the correct answer.

'Electromagnetic energy can be gained or lost in the manner of ....".

a) continous b) discrete

A. Ruther Ford

B. Neils Bohr

C. Einstein

D. Max Planck

Answer:

| o Wiak~hh \NiAdAA CAlLiikian


https://dl.doubtnut.com/l/_X7QblaTVS9q4
https://dl.doubtnut.com/l/_AGRDvmyxqJ9t

| § yVULLIL VIMLGY JVIVGIVIEL

106. Which of the following is a failure of Bohr’s atomic model?

A. splitting of line spectra

B. stationary orbit

C. emission spectrum

D. hydrogen spectrum

Answer:

o Watch Video Solution

107. Contribution of Summerfield to be model of atom

A. stationary orbits

B. circular orbits

C. elliptical orbits


https://dl.doubtnut.com/l/_AGRDvmyxqJ9t
https://dl.doubtnut.com/l/_opoRkVPv6WeZ
https://dl.doubtnut.com/l/_NNcdUrYL3H7n

D. orbitals

Answer:

o Watch Video Solution

108. The quantum number which explains about size and energy of the
orbit or shell is

A. principal quantum number

B. angular momentum quantum number

C. magnetic quantum number

D. spin quantum number

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NNcdUrYL3H7n
https://dl.doubtnut.com/l/_2iFZ88eJZ1uV

109. If n=3, the main shell is

A K

B.N

C.O

D.M

Answer:

o Watch Video Solution

10. If, n = 3, the maximum value of [ is:

A3

B.4

C.1

D.2


https://dl.doubtnut.com/l/_qcvV2G60FIWZ
https://dl.doubtnut.com/l/_4WhydGZRDgRv

Answer:

o Watch Video Solution

111. The value of | for n =2 are

A 1,2

B. 0,1

C.23

D.0,1,2

Answer:

o Watch Video Solution

112. The orientation of orbital in space relative to the other orbitals in

the atom is known by


https://dl.doubtnut.com/l/_4WhydGZRDgRv
https://dl.doubtnut.com/l/_xaazeEIG515d
https://dl.doubtnut.com/l/_Lsioijf3ZmmP

A. principal quantum number

B. angular momentum quantum number

C. magnetic quantum number

D. spin quantum number

Answer:

° Watch Video Solution

113. For a given value of I’ the number of integer values of m |

are_
Al-1
B.l+1
C.2l+1

D. 2I-1


https://dl.doubtnut.com/l/_Lsioijf3ZmmP
https://dl.doubtnut.com/l/_y8JXnBOkLjv4

Answer:

o Watch Video Solution

114. The clock wise or anticlockwise orientation of electron in an orbit

is given by _

Answer:

o Watch Video Solution

115. Which of the following is not a correct set of quantum numbers?


https://dl.doubtnut.com/l/_y8JXnBOkLjv4
https://dl.doubtnut.com/l/_SpgQYgbvKL2U
https://dl.doubtnut.com/l/_gHV4fDfBiq8T

An=11=0,m =0,m;= —1/2
Bn=2Il=1m =0,m, = +1/2
Cn=0I1l=0m =0m, = +1/2

Dn=31l=1m =0,m;,= +1/2

Answer:

o Watch Video Solution

116. When an electron moves from higherorbit is produced.

A. emission spectrum

B. Absorption spectrum

C. a-particle

D.none

Answer:



https://dl.doubtnut.com/l/_gHV4fDfBiq8T
https://dl.doubtnut.com/l/_UHO7vbq19aIt

| 9 Watch Video Solution

117. What is Aufbau principle ?

(##BYD_PHY SCI X P1 C06 E02 110 001png" width="30%">

(##BYD_PHY SCI X P1 CO6 E02 110 002.png" width="30%">

(##BYD_PHY SCI X P1 CO6 E02 110 003.png" width="30%">

(##BYD_PHY SCI X P1 C06 E02 110 004.png" width="30%">

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_UHO7vbq19aIt
https://dl.doubtnut.com/l/_e2jEeX6pRIhV
https://dl.doubtnut.com/l/_ouXf3FZbkt4j

118. The maximum number of electrons in a sub-shell is given by the

expression.

A. 2l
B.2l +1
C. 2(21+1)

D.3

Answer:

o Watch Video Solution

119. quantum number gives spin of electrons about their own

A. Spin

B. Magnetic

C. Angular momentum


https://dl.doubtnut.com/l/_ouXf3FZbkt4j
https://dl.doubtnut.com/l/_S5d6ADgbdbBd

D. Principle

Answer:

o Watch Video Solution

120. If the value of principal quantum number is 3, the total possible
values for magnetic quantum number will be

A.1and -1

B.+1/2 and —1/2

c.—-3, +3

D.Oand 1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_S5d6ADgbdbBd
https://dl.doubtnut.com/l/_8jYSRo7BMJXS

121. If both spin quantum number values are positive then the spins
A. parallel
B. Perpendicular
C. clock-wise

D. anti-clock-wise

Answer:

° Watch Video Solution

122. What is the meaning of word ‘Aufbau'?

A. making up

B. dismantling

C. building up



https://dl.doubtnut.com/l/_BWE6GAcCWHSa
https://dl.doubtnut.com/l/_CYdyNGN6nRr4

D. breaking up

Answer:

o Watch Video Solution

123. The relative energies diagram of atomic orbitals is given by

A. Bohr

B. Moeller

C. Brogile

D. Schrodinger

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CYdyNGN6nRr4
https://dl.doubtnut.com/l/_oeLvuRmTI2Kt

124.The orbitals with same energy from the following

A. degenerate
B. equilateral
C. similar

D. circular

Answer:

o Watch Video Solution

125. ns? configuration is called.......configuration.

A. 1. octet
B. 2. quadra
C. 3. duplet

D. 4. tetra


https://dl.doubtnut.com/l/_R20DyA6iekZ7
https://dl.doubtnut.com/l/_7xmngkdKkwzK

Answer:

o Watch Video Solution

126. The electronic configuration of copper is
A. (Ar)4s'3d®
B. (Ar)4s'3d®
C. (Ar)4s*d®

D. (Ar)4s'3d*°

Answer:

o Watch Video Solution

127. Noble gases are inert - explain.

A. efficient


https://dl.doubtnut.com/l/_7xmngkdKkwzK
https://dl.doubtnut.com/l/_wINOyoWoBsmX
https://dl.doubtnut.com/l/_S5OmbD8hDlyM

B.inert

C.reactive

D. thick

Answer:

o Watch Video Solution

128. An outer most shell which has 8 electrons is said to possess in

.................. configuration.

A. octet

B. quadra

C.duplet

D. tetra

Answer:



https://dl.doubtnut.com/l/_S5OmbD8hDlyM
https://dl.doubtnut.com/l/_U6XjXlax1pJc

| o Vvatch Vvideo Solution ]

129. Give the equation which give electromagnetic energy (light) that

can have only certain discrete energy values .

A.FE = hv

B.c = v\

C.E = Amc?

D. 2n?
Answer:

o Watch Video Solution

130. Which one of the following electromagnetic radiations have the

smallest wavelength

A.a -rays


https://dl.doubtnut.com/l/_U6XjXlax1pJc
https://dl.doubtnut.com/l/_f013vHPzDLO1
https://dl.doubtnut.com/l/_cEmdbM7UVgWT

B. X -rays

C. Cosmic rays

D. UV rays

Answer:

° Watch Video Solution

131. Atomic spectrum of hydrogen is a

A. line
B. band
C. continuous

D. visible

Answer:

spectrum.

° Watch Video Solution



https://dl.doubtnut.com/l/_cEmdbM7UVgWT
https://dl.doubtnut.com/l/_jVChaY3xYgbz

132. Stationary states are also called as

A. shells

B. energy shells

C. sub-stationary shells

D. sub-energy levels

Answer:

o Watch Video Solution

133. What is the shape of s-orbital ?

A. dumb-bell

B. double dumb-bell

C. spherical


https://dl.doubtnut.com/l/_jVChaY3xYgbz
https://dl.doubtnut.com/l/_pyQxL0P2vbGn
https://dl.doubtnut.com/l/_zcgimbq02gqI

D. no shape

Answer:

o Watch Video Solution

134. What is the shape of d-orbital ?

A. dumb-bell

B. double dumb-bell

C. spherical

D. no shape

Answer:

o Watch Video Solution

135. How wavelength and velocity of light related?


https://dl.doubtnut.com/l/_zcgimbq02gqI
https://dl.doubtnut.com/l/_xKQ2WoETlz2R
https://dl.doubtnut.com/l/_ynkBxCLGolGI

B v
.Cc= —
A
v
Cc=—
A
D.c=v+ A\
Answer:

o Watch Video Solution

136. Electromagnetic energy is characterized by

A. wavelength
B. frequency
C.A&B

D. no character

Answer:



https://dl.doubtnut.com/l/_ynkBxCLGolGI
https://dl.doubtnut.com/l/_Z7k7Wj40aiba

| @Y Watch Video Solution

137. colour flame is produced with cupric chloride.

A.Red

B. Blue

C.Violet

D. Green

Answer:

o Watch Video Solution

138. ... is an example for continuous spectrum.

A. Line spectrum

B. Rainbow


https://dl.doubtnut.com/l/_Z7k7Wj40aiba
https://dl.doubtnut.com/l/_5OF87eYDiXIk
https://dl.doubtnut.com/l/_TBqPDWoZRGPe

C. band spectrum

D. No example

Answer:

o Watch Video Solution

139. __produce line spectrum.

A. Solidations

B. Liquid atoms

C. Gaseous atoms

D. Any atom

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TBqPDWoZRGPe
https://dl.doubtnut.com/l/_TI9kSvX0PGYq
https://dl.doubtnut.com/l/_Oyxm7w7FrM9F

140.  produce line spectrum.

A. Atoms

B. Molecules

C. Electrons are present in a particular region around the nucleus

D. Protons

Answer:

o Watch Video Solution

141. An atom or molecule having lowest possible energy is said to be in
A. ground
B. excited

C. melting


https://dl.doubtnut.com/l/_Oyxm7w7FrM9F
https://dl.doubtnut.com/l/_Y5ZQ9hT6tJ3F

D. freezing

Answer:

o Watch Video Solution

142. Line spectrum is characteristic of

A. discrete

B. continuous

C. band

D. split

Answer:

o Watch Video Solution

143. Which is used to identify unknown atoms ?


https://dl.doubtnut.com/l/_Y5ZQ9hT6tJ3F
https://dl.doubtnut.com/l/_u8JlXwT9XZ5m
https://dl.doubtnut.com/l/_uBSGViOXSMKQ

A. atomic spectra

B. band theory

C. spectroscope

D. spectrography

Answer:

° Watch Video Solution

144. When an electron jumps from a lower energy state to higher
energy stateit __ energy.

A. loses

B. emits

C. absorbs

D. no change


https://dl.doubtnut.com/l/_uBSGViOXSMKQ
https://dl.doubtnut.com/l/_R39EmqbeaOZg

Answer:

o Watch Video Solution

145. Principal quantum number is related to

A.size and shape

B. size and energy

C.size and orientation

D. orientation and spin

Answer:

o Watch Video Solution

146. The maximum value for 'l 'is

Al


https://dl.doubtnut.com/l/_R39EmqbeaOZg
https://dl.doubtnut.com/l/_9ArbZaqdCmDb
https://dl.doubtnut.com/l/_mDehaTaXiLMu

B.2

C.(n-1)

D. (n+1)

Answer:

o Watch Video Solution

147. Orbital quantum gives _

A. angular momentum quantum number

B. principal quantum number

C. magnetic quantum number

D. spin quantum number

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mDehaTaXiLMu
https://dl.doubtnut.com/l/_7QlHAW1Y6KlH

148. Splitting of spectral lines in magnetic field is known as

A. starck

B. streaking

C.screening

D.zeeman

Answer:

o Watch Video Solution

149. The orientation of orbitals is given by quantum

number.

A. principle

B. angular momentum


https://dl.doubtnut.com/l/_7QlHAW1Y6KlH
https://dl.doubtnut.com/l/_TTS4gcUtANKF
https://dl.doubtnut.com/l/_T16SDXs9lVap

C. magnetic

D. spin

Answer:

o Watch Video Solution

A.-1/2

B.O

C.-3

D. +1/2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_T16SDXs9lVap
https://dl.doubtnut.com/l/_IaofNdJKP6iD
https://dl.doubtnut.com/l/_DtrMZzhRa2YZ

151. You know that the distribution of electrons in shells, sub-shells
and orbitals in an atom is known as electronic configuration.
Now answer the question by using the electronic configuration
1322322p1
How many sub-shells are there ? What are they ?

A. atomic structure

B. electronic configuration

C. chemical formula

D. accommodation of electrons

Answer:

o Watch Video Solution

152. "No two electrons of the same atom can have all four quantum

numbers the same". Name the above principle.


https://dl.doubtnut.com/l/_DtrMZzhRa2YZ
https://dl.doubtnut.com/l/_BHuevzzx6Zr9

A. Aufbau principle

B. Hund's rule

C. Bohr's quantum condition

D. Pauli's principle

Answer:

° Watch Video Solution

153. The maximum number of electrons in a sub-shell is given by the

expression.

A.2n

C. 2n°

D. 4n?


https://dl.doubtnut.com/l/_BHuevzzx6Zr9
https://dl.doubtnut.com/l/_F78PMCPeaFMG

Answer:

o Watch Video Solution

154. Electron enters into

Aufbau principle.

A. lowest

B. highest

C. any energy level available for i

D. no energy level

Answer:

energy level, according to

o Watch Video Solution



https://dl.doubtnut.com/l/_F78PMCPeaFMG
https://dl.doubtnut.com/l/_lZmEqH0Tz0he

155. What happens when electrons jumps from lower energy level to

higher energy level ?

o Watch Video Solution

156. When do electron will emit the energy ?

o Watch Video Solution

157. If the electron falls from n = 3 to n = 2, in hydrogen atom then

emitted energy is

o Watch Video Solution

158. What is emission test?

o Watch Video Solution



https://dl.doubtnut.com/l/_1SOSy35tuMNo
https://dl.doubtnut.com/l/_gKmKnIJyaJYi
https://dl.doubtnut.com/l/_IDYfbSc6snqJ
https://dl.doubtnut.com/l/_dJkGEETTdSGx

159. Write postulates and limitations of Bohr Hydrogen atomic model.

o Watch Video Solution

160. What are quantum numbers ?

o Watch Video Solution

161. What are quantum numbers ?

o Watch Video Solution

162. Magnetic quantum number is related to

o Watch Video Solution



https://dl.doubtnut.com/l/_dJkGEETTdSGx
https://dl.doubtnut.com/l/_Psgo26YilEFe
https://dl.doubtnut.com/l/_VTB2vm6BSV3o
https://dl.doubtnut.com/l/_Hyju8W1vac0Z
https://dl.doubtnut.com/l/_lKpW0PBManEK
https://dl.doubtnut.com/l/_IpppBE0UAL37

163. Which quantum number describes the orientation of the orbital

in space ?

o Watch Video Solution

164. Why does spin quantum number introduced ?

o Watch Video Solution

165. What is Aufbau principle ?

o Watch Video Solution

166. Is there any rule to find the maximum number of electrons in any

shell ?

o Watch Video Solution



https://dl.doubtnut.com/l/_IpppBE0UAL37
https://dl.doubtnut.com/l/_6HAuCYZAdWVc
https://dl.doubtnut.com/l/_d7yH1fTvjiN1
https://dl.doubtnut.com/l/_6bkshJRw7EM0
https://dl.doubtnut.com/l/_QIamsr7e2vpy

167. How can electronic configuration be built up in ground state ?

o Watch Video Solution

168. Which of the following orbitals are filled progressively in the

transition elements

o Watch Video Solution

169. When two sub-shells have same value of n + |, where do electrons

to then ?

o Watch Video Solution

170. Why do we cann't see radio waves with our naked eyes ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QIamsr7e2vpy
https://dl.doubtnut.com/l/_LjioSXmRAbdk
https://dl.doubtnut.com/l/_fDQzYBvZNmEv
https://dl.doubtnut.com/l/_QPbhaFsMqfdE

171. Which type of model of atom Erwin Schrodinger developed ?

o Watch Video Solution

172.When n = 2,1 = 1, how many orbitals are there ? Name the sub-shell
which they belongs to ? How many maximum electrons can occupy

this sub-shell ?

o Watch Video Solution

173. Write postulates and limitations of Bohr Hydrogen atomic model.

o Watch Video Solution

174. Orbitals having equal energies are

A. Atomic orbitals


https://dl.doubtnut.com/l/_VKwznYI9Qywc
https://dl.doubtnut.com/l/_j8GhOVyAyN02
https://dl.doubtnut.com/l/_rfA1NglR6Bt6
https://dl.doubtnut.com/l/_DLikrEiOQkxo

B. Hybrid orbitals

C. Degenerate orbitals

D. Pure orbitals

Answer:

° Watch Video Solution

175. Which of the following spectrum is look like a finger prints ?

A. Visible spectrum
B. Line spectrum
C. Band spectrum

D. All the above

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_DLikrEiOQkxo
https://dl.doubtnut.com/l/_5WjK5aNYZsdM

176. Splitting of spectral lines in the presence of electric field is called

A. Zeeman effect

B. Stark effect

C. Photo electric effect

D. Quantum effect

Answer:

o Watch Video Solution

177. For Manganese atom, assuming that Hund's rule is to valid for |=2
subshell predict the unpaired electrons and elctron pairs in that

subshell of atom

A.5]1


https://dl.doubtnut.com/l/_5WjK5aNYZsdM
https://dl.doubtnut.com/l/_Ij88JnOYdXRt
https://dl.doubtnut.com/l/_iqM4ID5QYvR9

B.5,0

C.1,2

D.1,3

Answer:

° Watch Video Solution

178. Degrenerate orbitals means

A. A set of orbitals of any energy level

B.d - orbitals

C. Orbitals with a higher energy

D.s,p and d - orbitals

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_iqM4ID5QYvR9
https://dl.doubtnut.com/l/_uSqbwFkewf31

179. Velocity of light in vacuum is given by the formula........

A.c = v
D
A
B.c = —
v
C.c=v\
D. c=hf
Answer:

o Watch Video Solution

180. Filling of electrons in an orbital of sub-shells is given by

A. Pauli's rule
B. Aufbau's rule

C. Hund's rule


https://dl.doubtnut.com/l/_uSqbwFkewf31
https://dl.doubtnut.com/l/_JB0TWwUe7M1w
https://dl.doubtnut.com/l/_kPow6k6tLhm0

D. All the above

Answer:

o Watch Video Solution

181. E = hv is given by

A. Bohr

B. Sommerfeld

C. Planck

D. Rutherford

Answer:

o Watch Video Solution

182. Identify the wrong set of quantum numbers from the following.


https://dl.doubtnut.com/l/_kPow6k6tLhm0
https://dl.doubtnut.com/l/_bwLcNu76CAXS
https://dl.doubtnut.com/l/_HV7fOIoYwxcY

A. n=2,l=1,m=0,5=+1/2

B. n=1,1=0,m=0,s=-1/2

C.n=2|=2m=+,5=-1/2

D. n=3,l=1m=+2,s =+1/2

Answer:

o Watch Video Solution

183. Electron emits energy if it jumps form ....to ... energy state

A. higherower

B. lower,higher

C.in the same energy state

D. excited state, ground

Answer:



https://dl.doubtnut.com/l/_HV7fOIoYwxcY
https://dl.doubtnut.com/l/_UiYl7ZUbYAsa

| @Y Watch Video Solution

184. Elliptical orbits were introduced by..........

A. Bohr

B. Max Planck

C. Erwin Schrodinger

D. Sommerfeld

Answer:

o Watch Video Solution

185. Sommerfeld added..... elloptical orbits to each Bohr's circular

orbit


https://dl.doubtnut.com/l/_UiYl7ZUbYAsa
https://dl.doubtnut.com/l/_TD70SjZNfbgC
https://dl.doubtnut.com/l/_slYgr3f7wlxH

Answer:

o Watch Video Solution

186. An orbital with m = +3 has an unpaired electron. If it is the only
unpaired electron in the atom which of the following electronic
arrangement corresponds to that atom ?

A. 4d*4 1155

B. (K)4d?5s>

C. (Kr)5d%4f1%s?

D. (Xe)4f2 s


https://dl.doubtnut.com/l/_slYgr3f7wlxH
https://dl.doubtnut.com/l/_F2744kyfuZO5

Answer:

° Watch Video Solution

187. What is the electronic configuration of Ca ?
1522522p°3523p%4s2

[Ar]4s>

[Ne]3s23p°4s>

1522522p°35%55%3p°

B.b,c
C.ac

D.a,b,c

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_F2744kyfuZO5
https://dl.doubtnut.com/l/_61Rxa061kSLY

188. Wite two sentences about the wavelengths of colours in rainbow

?

° Watch Video Solution

189. How can you say that VIBGYOR have different wavelength ?

o Watch Video Solution

190. Where do we see the radio waves ?

o Watch Video Solution

191. Why does on element emit light, when it is heated ?

o Watch Video Solution



https://dl.doubtnut.com/l/_fvvOelZdaKLL
https://dl.doubtnut.com/l/_H043OVwXiW2g
https://dl.doubtnut.com/l/_AftcEgvssKvZ
https://dl.doubtnut.com/l/_wd8laAHwwkDK

